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Class : XII
Time : 3 Hrs.] M. M. : 70

General Instructions :

(i) There are a total of 26 questions and five sections in the question paper. All questions are compulsary,
(i) Section A contains question number 1 to 5, very short answer type questions of one mark each.

(i) Section B contains question number 6 to 10, short answer type I questions of two marks each.

(v) Section C contains question number 11 to 22, short answer type IT questions of three marks each.

(v) Section D contains question mumber 23, value based question of four marks,

{vi) Section E contains question number 24 to 26, long answer type questions of five marks each.

{vil} There is no overall choice in the question paper, however an internal choice is provided in one question oftwo
marks and one question of three marks and all questions of five marks. An examines is to attemnpt anv one of
the questions out of the two given in the question paper with same question number,
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SECTION - A (7% - )
1. Give examples of two aquatic plants that pollinates through insects and wind. 1
=1 st drdt 3 A wand fad s i s A an e
2. Name the technique which can correct miertility cases due to low sperm count inejaculated semen. 1
TH WAL W N 907 (ees g g & T oS e mte el d ymed S sh v i
1 2 Framm fF =1 o #
(:-I’ .krrang:thch[hwngmmrdmafm]mm‘yrﬂstm v i
ﬁmahmmmm, Hurmemmt'&, Rammmhecus., Nmndmhall‘-'lmﬂmmm
frm = fa % 3fmeme 3 o swEfs it
4. Name the enzyme which isresponsible for transcription of i RNA.  @emopgymitiss 1
36 UAEH F1 A 70 S hn RNA F Jms & T fem 2
5. How bacterial cell arc made competent to take up plasmid 7 1
st e e 7 ¥ T e v W e § 7

SECTION - B (WTE - =)

6. Why Agrobacterium tumefacien is termed as natural genetic engineer of plants 7 How has Agrobacterum

disarmed for producing GMOs ? 2
e e % wed # wref sEite St i so et 2 oidedfem R GMOos
= % fon foem wn feen fe s & 2

7. Give two reasons why DINA bands gets separated during agarose pel electrophoresis. 2

T AW TRy, F Thew w5 e S g i w o sem e s k2
8. Discuss how the possible fate of zypote developiment depends an the lift cycle oforganism and the environment
it is exposed o, 2
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Expand the term MTP. Mention any two conditions under which doctor advises MTP,

v 5 fa frm wEw gEe & 9 & faewm w Ffm e R S % AT e w9 o wl F

R v i w

e

MTP =i farsam & farfiay i 37 afiferfidl o e wifa fami =ie MTP %1 w6 20 §)
AT Write two differences between normal cell and cancerous cell,

v wiferERe oi f EifeEmed # w1 e feie
10. Calculate the number of base par of E. Coli DN A ifthe length of DNA 15 136 mm.

£ e § wR gl w1 HeEm s wifn afe s = e 136 mm ¥
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SECTION - C (FUE - ™)

11. Identifya, b, ¢, d, eand fin the given tabie ; 3
Scientific Name of Organism Product Produced Use in human welfare
a Cyclospora A Is
Lacto bacilhis ¢ sets milk mio curd
Monascus purpureus d e
Streptococcus f Clot buster

aferenT & 31, W, M, 9, ¥, W W g |
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# HrEEEEIE |
EGE b (B Lot n =Y W WA
HEtERT T L =
(AT B e % T TR A

PT.0.



4 M
{II. Draw a neat diagram ofhuman sperm and lebel the following parts : 3

(i) Which is filled with enzyme that help in fertilisation.

{ii) That posses numerous mitochondria.

(iii) Facilitate sperm motility.

R ¥ ¥ WE guu Ty wmny st fra s it s

(i) =% v =i e & medvft Gmm @ swgsn 8

(i) =% v Formd] wgm W Tedm T B )

(i) = ey 1 wiferedrer 3 &
13. (i) Explain how placenta formation takes place in buman female. 3
r (if) Name two hormones secreted by placenta during pregnancy that are not present in non-pregnant firmales.

(i) e w8 s &9 w2 Wy
(i) mfem % s wifen 019 59 5 ange & A ﬁa‘lh;ﬁr aquﬂarﬁnﬁ & o e

- g

(1) 1dentify the structure in the figure. j
{1#) Name the initial cell from which this structure has developed.

{Eﬁmwth:nmtmmnﬁhh structure and label its parts.

(i) W& HOET F) SRR T '
(1) =% wrfvw wifyr @ 9 fofag e S it &)
(iii) 9 He=n ¥ STl ftoe svrem w1 fry ] of o o W) Sifen W
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_J5. Represent diagramatically the binding of +-RNA adapter molecule with the start codon. Label the diagram.
3
RNA ST ST 1 WHSE Yo & w19 957 51 G e w1 a9 T R
' OR (z19rEm)
Mention the criterias a genetic material must fulfill. Give two reasons why DNA is better genetic material than
RNA,
T T E] T IR wifee = 5 arEivE vEd awve @ S & % wEw = fE o, s
u. H s i T w7
16, Mendel published his work on Inheritance of characters in 1865 but it remainded unrecognised for 35
years, Write any three reasons for it. 3
Tz g i =1 Sewts W R w1865 F WA @ g 1 70 FE 0l & T e 35 9w ATm
T 9 & o wR e T W
17. Diagramatically represent the Stablising, Directional and Disruptive operation of Natural selection on different

traits, 3
wrdteres, froms o e waell w0 T o =t wfiea w1 st sl st
J& Name any three factors which affect Hardy Weinberg equilibrium. How genetic disturbances leads to speciation?
3
o} At wre = vt w0 9@ f w2 T Tea wER SgEitns e v & Sty w
LT

C
19, 3

A q\n
'I\k_J}r
(i) Identify the A, B, C, D marked in the diagram of biogas plant.
(ii) Mention the usefil products obtained from biogas plant.
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(i) =rare e AR @, |, 0 o g 5 e s
(i) M e | wre 6 A S e vl & A fefa

. pBR 322 contain two ansibiotic resistant genes. Name these genes and ako specify that how the presence of

these two genes in pBR 322 is useful for -DNA technology ? 3
pBR. 322 % 914 21 wiTsfas wiaind <9 €| 33 <o =1 719 fafae 9@ pBR 122 3 w1 ofw =1 3ofefa feg
WEH r-DNA T6AE & T gemgs 8, 98 4 amen)

Narme the novel strategy adopied to prevent nematode infestation in the roots of tabaceo plants. Explain the
strategy n bref.

e it T Sl F gt & Awew F 1A F e s T6iE e 5w fer | e 5 g
H W

Given below is a schematic presentation of a Lac operon, 3
Fl i1 PO rE 'Y Le
(i) ldentify Aand a. el

(i) Name the inducer for this operon and explain its role,
(iii) A very low level of expression lac operon has to be present in the cell all time, Why 7

gl el E|Y |La

)
(1) A 3R o T TE=E Fifam
(ii) 78 #TA § I w1 98 "9ny o su ufte SR
(i) v § wrep-srafer® i s e w0 W w0 w2
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SECTION - D (397F - 0)
Vesibhav arid Rahul weré plaing in the ground. Rahul burt himself whill playing arid his foot started bleeding.
Vaibhav look him to Doctor. Immiediately, Doctor gave him medicine and imjection against tetnus. 4
(1) What kind of immunity is provided by anti tetnus injection 7
(i) Define this immunity and mention the conditions under which it is adivsed.
{ £} Write two values shown by Vatbhav.
v 3R TEH W | GW W 41 TES W 9 @ 0 A 36E R gm e e dve 5 S ue
o T | BT A S wAnE AR frem R own . i e
(1) 9% o form T I s mR s & 2
(i1) 71 wfien 1 wfisnfes wife i wand fs fee oftfafdl & oot wome & ot &
(iii) & gro =wfd e S e = fafam)
SECTION - E (®|vE - %)
How does microspore mother cell develop into mature pollen grain 7 Hlhestrate the stage with labelled

diagram. 5
U Y AR R W viiees T fasta i & 2 amaifee faw = meraa & smenad =
Tt S

OR (3reram)

(i) Write an advantage and dis-advantage of amniocentesis.
(i) Dscuss two natural method of contraception.
(iii) Explain the utility of test tube baby programme for infertile couple.
(i) st 51 vF w @ v wls e
(i) ™ Frites % fefl <t vt o] 0 =i wifaa
(iii) 2% 29 ¥t wrdwn w1 oA gufa & fo awdifinn wamm
Eukaryotic transcription is a complex process incomparision to prokaryotes. 5
(1) Discuss any three complexities of eukarvotic transcription.
(i) Explain the initiation of transcription. |
Tt o s, S ¥ At B Ao § Wi wiem £
(i) FFss! seae =t = dF e o o Sifam
(i) STEE T WY TR |
P.T.0.
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OR (3reram)
(i) What do you understand by charging of RNA 7
(ii) Explain the initiation and termination of translation,
{iii}WhatudnwuﬁndUTR?‘Mmmth:y?
(1) S AR, B Sl & o w gy $
(i) TR 3 wrive 2 T i HEHTIY |
(iii) srEmTais Tom Fel A # 2w § 7

26. (i) Explain the role of microbes in sewage treatment plant,

(if) Baculo viruses are used as bio control agents. How ?

{ﬂmwmﬁﬁﬁﬁfﬂﬁmm:

(i) TR AT Fr Fafreiw & wy § 3w fem o k) & 2
OR. (319rm)

{1} Make a chart showing replication of HIV in animal cells.

(if) Write two ways to control spreading of AIDS,

{iii) Write full form of AIDS,

(i) v fors wnd =it HIV %t =g Fifirn § whirgfa %1 aofey,

(ii) AIDS 1 % 3 357 % 1 39 forfm |

(iii) AIDS 1 70 e frfamn




